Lattice Multiplication (C)

Use lattice multiplication to find each product.

7 2 1 1 4 1 6 1
9 9
6 9
7 3
6 4
3 8

7211 X 96763 = 4167 x 99348 =

8 4 5 3 8§ 8 8 5

8 2
9 1
3 4
4 3
6 7

8453 x 89346 = 8885 x 21437 =
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Lattice Multiplication (C) Answers

Use lattice multiplication to find each product.

7 2 1 1 4 1 6 7

6 1 0 0 9 3 0 5 6 9
6 3 8 9 9 4 6 9 4 3

4 1 0 0 6 3 0 5 6 9
9 2 2 6 6 1 6 9 4 3

4 ] 0 0 7 ] 0 ] 2 3
7 9 4 7 7 3 2 3 8 ]

4 ] 0 0 6 1 0 2 2 4
7 2 2 6 6 9 6 4 4 8

2 0 0 0 3 3 0 4 5 3
5 1 6 3 3 8 2 8 8 6

7 9 9 3 3 1 1 6

7211 x 96763 = 697,757,993 4167 x 99348 = 413,983,116
8 4 5 3 8 8 8 5

6 13 14 2 g LA T AT A
7 4 2 0 4 1 6 6 6 0

7 3 4 2 9 0 0 0 0 1
5 2 6 5 7 9 8 8 8 5

2 | | 0 3 3 3 3 2 4
5 4 2 5 9 0 2 2 2 0

3 1 2 1 4 2 2 2 ] 3
2 2 6 0 2 4 4 4 4 5

4 2 3 | 6 5 5 5 3 7
4 8 4 0 8 6 6 6 6 5

1 7 3 8 7 7 4 5

8453 x 89346 = 755,241,738 8885 x 21437 = 190,467,745
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